Division

Inspectio

e
i
1
S
B =g




e sttt .

Stage 1 - rloor Stage 5 - poors
I JEIN v S o S i i fm TE iy UpperDoorFrame T e
il A g Threshold
: : ! E g4 G : Side Door Frame s o
o : s . Left Doar
- ) . " Sto 1!'\‘:\;
[ : Y
3 I ] “
: . . T
5 (- i Right
o 5 - = & left
—; 5 S T L Deer
Floor B (2) Floor C (2) Floor A (2) Hinges ooy
. R—— i Door )
Stage 2 - walls Handle kit
Upper
Door Header (1) . :
Outside e L nge =1
E‘"‘“‘“‘*x.._._n i s S i S e o | cofnﬂ' Left DOOI‘ H) Right DOO! (1} Sl.lppﬂ“ r
[ S I Support (4}
EEE e - - Stage 6 - siding
: N R - i Gable Trim (3&\’\
i Upper Door
L Trim (2
ot o] 1 .- = = ] 2 Upper Side
; - Trim {2}
Front Walls Common Fol i
{(1L-1R) Walls (12) Inside Wall
Corner Brace (4) Corner Trim
m I
Stage 3 - Gables - T—
; Gable Vent (2 ' ’
. ¢ Vent (2 t ] —
) P [ T )
B ff#.«";”i’ H o ! g ]
| Oy —_— |
T 1
; - .E:st: { i L,____..J
Gables(d) ata— Siding Panels —
q mﬂm‘ “)MJ i Ridge Cover (2}
eam s —
P %
; . T \f Ridge End (2)

Wall Cap (2}

Ridge Cap Splice {1)

Stage 4 - roof

Wall Cap {2)
Trass Upright B —=seeome
Smal Truss A
oy I

Long Truss €

ReofB () Roof € {2} Roof A {2)




Inspections Division

Date: 03/1 5/1 877

Doorsf«ssen;hiy .
Stage
Stage1 Floor .......................... 4 Requires that the Window location options
& Level or
Stage2 Walls........................ 6
Stage3 Gables........................ 10
Staged Roof.......................... 14
Stage5 Doors................. 18 Door location
Stage6 Siding......................... 24 Door
tag J Requires that the
' , Floor is Flat & Level
Stage 7 Securing Shed To Base.... 28

Shed Assembly Tools Required: Phillips head screwdriver or electric screwdriver, Drill Bits -1/8"- 1/4”- 3/8”, Level,
Molded Wrench Tool or Socket Wrench, 7/16” & 9/16 "wrenches, Small rubber mallet

116" & 9/16”

Wrenches Melded Wrench

S~ supplied with Shed

g T
i = e
! @ oy

S . H

1/8"-1/4"-318"

Stage 1 rioor

;-

J ‘ : (30)- 1/4"x2" Coarse Thread

Nk - : ; Tools Needed:

TR O Y { | Y N [T T S L

Floor A (2) Floor C(2} Floor B (2)

Homestyles.

el eines steiage




Inspections Division

Floor Assembly

{30)- 1/4"x2"
Coarse Thread

mond el made pagy

Homestyles.

e stoiage




Inspections Division

Date:_03/15/18

Stage 2 valis
Door Header {1}

ko E o
S T T "—"'ll:':n— -
¥
b o 3 4
S ) '*_ﬁ— i L1 ;
et e b mu_- _Em..&.l:f. _gu__g___&_

Front Walls Common Window
HL-1R) Walls (12) Wall {1}

B el e Outside
Inside Wald L:....k 1 I I | =1 Corner
Corner Bracket (4) Support {4}

Fastener Bag “B" Fasiener Bag e
) \ E é%l% (54)- 3/8"-T-Nut
. I
(2)- 114*-20 Nut  (2)- 1/4"x2 Wall Stud @ Molded Wrench 313‘*)(3;4 {5’4 318"
Assembly . supplied with Shed HexBoit  Flat Washer
(rse exgsgpsgsnpassiny)
28) {6)- 1/4"x314” (2} 14" X2

1/4" Washer Pan Head Truss Head

M
77116" Wreach

148"

Drill Meolded Wrench
Bit supplied with Shed

Homestyles.

oeelien erage




Inspections Division

03/1518

Date:

Walf Assembly

7

Tighten untill nutis

Front Wall Stud
Assembly

flush with floor

6

Common Wall Panel

Place Left & Front Corner

left Front
Wail Paned

(2)- 1/4” x 2 Wall Stud Assembly

Do Not Overtighten

Place Corner Supports

YR L) g‘ﬁmg@

Molded Wrench
supplied with Shed

308" X 314"
Hex Bolt




Inspections Division

Date:_03/15/18

Place remaining Three Corner Panels

9 Secure Carner Supports
g-f

[aA
o o
Y . LT - f’
& a0 U
& 318" X 314 - .
" Hex Bolt 38" 38
Flat  T-Nut

Washer

Molded Wrenfh
supplied with Shed

Place Six (6) Walls and
10 One(1) Window Wali into

Position

Window
Wall -

Window can be installed
in either location.

Warning Siding Is
Specifically Cut To
Accomidate Either Of
These Two Window
Locations Only!

Secure Wall to Wall

&
Homestyles Handyman Hint: E:f

52" TS o hiole it _ ] nl

{}j] a*‘] fing hax boit, BBl e "g : gl :
el ! L { i :
3/8" X 34 M i Ly W i .
Hex Bolt 33" 318 I ' ; o
Flat  T-Hut L . H O i
Washer ; I ) g ) AL
EIEI b g = y
\[[ ; 8 Pt g W;- 7
! el § e

, |
Motded Wrench =

supplied with Shed Do Not Overtighten

Homestyles.

" pedoon stenage




s

Secure Wall
to Floor

Attaching Front & Rear Corner Brackets and Door Header

13

Attach one side of
font comer blacket to
door header. Attach the

Front Corner Brackets

Inspections Division

Date: 03/1 5/1 877

(26) 14" x 1-14"
Coarse Thread

o {28)
. 14" Washer

other side of bracket
tothe wall 1-1/47

back from the edge of

wall pocket, Pre il

1/8" hole then fasten. Door
Repeatfor other fromy | Header

oimet bracket.

RS AR
{2)- 114" x 2"
Truss Head

Rear Corner Brackets ./ X

i

PMace rear comner
bracket 1" down from
top of wall and 3/8”

fiom edge of wal
pocket and pre-diil
/8" hole. Attach to
wall one side at a time.
Repeat for other rear
comer bracket.

b

L

(8) 1/4"x 314"
Pan Head

z%ﬂ%%ﬂéﬂﬂé%%%ﬁ




Stage 3 Gables

Date:

Gable Vent (1)

Wali Cap (2)

=

{12)- #10 - 1" Pan Head
Phillips

e
Gable (4)
)
g
Aluminum Beam {1}
" g
- Y ‘
| ‘! )\
L
(4)- 3/8" X 3/4" VAR
Hex Bolt  (4)- 3/8* {4)-3/8
Flat T-Nut
Washer

Tools Needed:

Assemble Gable Ends

14

C};MMNE }

38" X 314" J

Hex Bolt 38" 318
Flat T-Nut
Washer

Molded Wrench
upplied with Shed

Soyie med dusadniity resds ousy

mestyles.

LulHzon séhage

Ho

Molded Wrench
supplied with Shed

(6)- 172" x 12 3/4" Bolt
Lecated in Fastener Master bag

{20)- 1/4" x 314" Truss Head

Snap al 308" Thuts ino ho'e
DA IO Inserting hay holt,

Homestyles Handyman Hint

Inspections Division

03/1518



Inspections Division

Date: 03/1 5/1 877

Attach Vent

y L3

aé‘ . SRR
AR SRR SUAR U (RTELEERN

(12 #19- 3"
Par Head Phillips

Homaestyles
Handyman Hint:

Position Two (2)

Rear with access holes

16 Wall Caps Front & wllCaps T -

toward the interior

Sl ead arebidiy made s

omestyles.

puddons R




17

Position, But Do Not Fasten
the Two (2) Wall Caps (Front

& Rear) With Access Holes
Toward The Interior

Frant Wall Cap
First Inside Hole
(Right Side Shown

Fifth Hole

Rear Wall Cap First
Inside Hole
{Right Side Shown)

Align with
Fifth Hole

Sl mnd deeabilip mads rosy

omestyles.

Daleion’s e
&

Inspections Division

Date: 03/1 5/1 877



Position Assembled Gables Secure Gables to Walls
on Front and Rear Walls 19

Homestyles
Handyman Hint:
Refora gorring make sure g

(20)- 1/4" x 314"
Truss Head

b <A

(6}
12 x12314
Bolts

|
i

1
|

Repeat on Front Wall
Slide (6)- 12-3/4” Bolts into Place _ ‘
20 from the End of the Aluminum Beam Slide beam into place on gable ends

sl 05



pate:_03/15118
Stage 4 roof
§ [ |

Loyl 7 [ 1] |
3 NN N |
g YR [ 1] [ ]

& IR Ly L]

IRERYRE [ 1] [ 1]
IREENENEN L r L |
PLL L 4] [l f
RN P i
NIRRT [ L] I
LV L1 \

Pl R [ 1] [ |

I RERNEN Lot L[]
NN [ 1] f
U ERERN L] |

Root A (2) Roef € (2}
Wa!l(ap (2} R
Roof - Truss »‘W\ “A” Small Truss (6}
“B” Truss Upright (6) -- E;Ef ;Iggf;:ﬁ s?aH‘:esad (5;;,;0,;
144 14" Trus Head
! 'C" Long Truss (6) Trass to Roof
~ ‘ B s e

Tools Needed:

Molded Wrench
supplied with Shed

Homestyles.
culdees sorage




Inspections Division

03/15/18

Date:

L S | S, i
- -~ =N - o P A e

Wall Cap

L)
&

(%]
c..w'e
=T
L = b
==L 2
—n
“‘.\tmt
Oln w =
W.mae
Pl ~ I —
coE*>
SSEtT
-
.ﬂtew
e il Y b

21

Place Roof Panels

22

Right Side Roof Panels

START Front to Rear

B.CtoA

{eft Side Roof Paneis
START Rear to Front

BC 1o A

) Homestyles.

celdees oo




Inspections Division

Fasten Roof Panels to Walls

23

| e

N\

o

3 sty

gk B e R

Roof to Walls
(16)- 1/4"x 34"
Truss Head

Repeat for other side.
Do Not Overtighten

24 Roof Panel to Roof Panel

frm—
AN NN
ARIANEANY )
Y
Roof to Roof : . — s i ' e
(16} 1/4"x 24" T : " . : -
Truss Head 1 B
» =13

Repeat for other side,
Do Not Overtighten

Homestyles.

il séeiages




Inspections Division

Push Truss Components ' oue: 03/15/18
25 A.B,C on to 12-3/4” Bolts

Homestyles
Handyman Hint:
Hide 3 i

Stage 4

12-3/147 Boit |

“A" Small Truss (6)

Push Truss Components
"A" PR
on to 12-3/4" Bolt

{6)- Acorn Nut

26 Truss to Roof Attachment Points

Truss to Roof
(24)-1/14"x1-1/4"
Truss Head

Do Not Overtighten

Homestyles.

Desdolnes 0G5S




Inspections Division

Date: 03/1 5/1 877

Stage 5 Doors

Threshold {1}
Upper door Frame (1) Side Door frame
(1R -11)

Upper Hinge
Support (1)

Fastener Bag *

{2} 1/12"~0.D. Bronze
Bushing Stage

Storm Chain Kit (2)

*

Left Door Stop (1) Door Left (1) Door Right {1)

T —
O
; A ey

i‘-\\w"/ WRLBR TR
S e | !
(31 #101" (9)- #16112" (4)- #10-172"

N‘;;L'fj‘fas,'fgr"ﬁgﬁ (AD Countersunk Phillips Pan Head Phillips Seif Drilling Pan Head

Tools Needed:

Homestyles Handyman Hint:

3 el 3

178" & 318"

Homestyles.

P ) 555%53




Inspections Division

Date: 03/1 5/1 877

Slide Upper Hinge Supports into

27 Upper Door Frame Approximately
6" but DO NOT ATTACH.

Upper Hinge
Support {2}

Place Upper

28 Door Frame into

position on the
Header

Secure Upper Door Frame

29 to the Header

(6)- 1/4 x 34"
Pan Head Phillips

Do Not Overtighten

5 Homestyles.

rudenen steiiage



Inspections Division

Date: 03/1 5/1 877

Position
Threshold
On Hoor but
DO NOT
ATTACH.
31 Position Door Side Frames into 32 MMM;} (12)- 1147x 314"
Position Right & Left B Pan Head
Secure
Door
Side
Frames
to the
Right
& Left
wall
Secure Threshold Place Bronze
33 to the Floor N 34 Bushings
! i into DOor =

Threshold T

S 44" % 1-1/4" .
() e x 1 on Each Side.

Truss Head

 Home g%yie S.

Ed et WG




Inspections Division

Date: 03/1 5/1 877

Position Hinge Lower Qutside of Doors

35 LeftDoor- 36

Secure Hinge to
g Door Seguence

| e A

o " Align with
b I -marked holes
=l =

Pasition
Door

Stop over
pre-marked
holes.

Secure with
Nine (9)
#10-1/2" Pan
Head Screws

%‘ww« At
L h RARIS T Ve

{8)- Hinge
#10-1"Countersunk

Position Hinge on
{ower Outside of Door

Align Quter Edge of Door
with inside of Hirge

38

Position Lower
Hinge into Threshold
Hinge Bushing

j @ (9)- $10-1/2"

Pan Head

Position Upper

37 Hinge into Upper
Hinge Support

Nylon Washer to TN

?'idquOOF Bottom Hinge Pin ~ N_="
into Hinge T

1 over ea. Hinge Pin
3/8" 1D x 5/8" 0D Nylon
Washer 1/8” Thick

Homestyles.

DD stovige




Inspections Division

Date: 03/1 5/1 877

Secure Hinge to Door Sequence

Hommestyles
Handyman Hint:

{8} Hinge
#10-1"Countersunk

il

Door Alignment
40 Secure Door Hinge Support in
Close doors Perpendicular Position

{4)- #10-1/2" Self
Tapping Par Kead

Storm Chain

a1

Position Storm Chain e
Bracket over pre-marked
pilot holes both doors,

To attach Storm Chain
to Door Header-

Measure 18" from door
frame, mark holes and

i predrill with 1/8" drill bit
then attach with four (4)
Pan Head Screws supplied

Hﬂi}f{n@é@}/{@s with Storm Chain Kit.

oy ) sotdge

Secure with four (4) pan head
screws supplied with Storm
Chain Kits !




Position Upper and Lower
Door Bolts over pre-marked
holes in Left door

Secure with Four {4) each
#10-17 Pan Head Screws

Siababatar gl o 5
REAARLER RS

4 ea.
#10-1" Pan Head

42 Left Side Door Bolts Upper & Lower

Push left door closed
and hold tight
with door baolts,
{upper and lower)
in position, push
bolt against surface
and mark, Drili 3/8*
access hole for bolt.

Door Handle
43

Handle Hardware
(see instructions
inside hox}

Hint

Homestyles Handyman Hint;

7 Sl ek bl masde pn

lomestyles.

it e sOwige

Inspections Division

Date: 03/1 5/1 877




Inspections Division

Date: 03/1 5/1 877

Stage 6 Siding

Upper Door Trim (1)

109
Corner lim {2} L
785 784
Door Trim (1} L Door Brim {1} R

] i Bag of 375
| h My y " Nylon Fasteners
Upper Side Trim (2)
/” ~ 762 (2}
Siding Panels %102 70 ()
— -
TR ——————————— e
152 (22) 751 (9}
765(2) ¢ T

o oo L

763 (1)

59N ] | ‘*~} 758 (1)

Ridge Cover (2)
(‘? Ridge Cap (2}
AS—

Ridge Cap Splice {1} il

Homestylas 1

; ools
Handyman Hipt: .

A Needed:

Butt and
Clamp

PY :
Cement

e wond dsabitiy sade wu

lomestyles.

Pt sdericiges




03/15/18

Inspections Division

Date:

781
Gable frim R
m
Upper Side Trim

780
Gabie Trim L

2 "

Upper Door

Position J-Channel Trim
Front - Sides - Rear

m
Upper Side Trim

780
Gable Trim L

44

785
Doot Trim L

Secure with Nylon Fasteners every 12”7 -16"

Homestyles
Handyman Hint:

ity smande 2oz

45

tyles.
st doage




Inspections Division

Date: 03/1 5/1 877

Siding
Starter Row

il 7 / ' Starter Row
i i ] Attaches to Guides at Base
Position 1NN et T L E ] %
Starter Row = Ll ‘ ;‘m i ;
) et A_. 2 . i
EE W’“’;Jr‘% ~.
it e 27
Bottom Starter Row - B M‘“ﬁ%
ALL SIDES — Slide-into Place T

47 Secure with Nylon Fasteners
Approximately every 127-16"

“ Secure with Nylon

t ¥
‘% Nylon Fasteners Fasteners

708
Corner Trim

Position Corner
48 Trim Approximately
every 12"-16"

709
Comer Tem 13
\ Comer Trim

st e o o

di
-‘_\'.‘\ /f
&
,**"l«-.
Secure d

i 08
I Corner Trim

with Nylon .
Fasteners .

Homestyles.

il stowage




49

Front 762 indow Si
o 260 Window Side s
3!
151 1 , 158 164 'l e ]
0 = om | == 1
D= == m — '
754 | 1 7951 il
750 ] F— 750 f S :
o — = | ™ 3 %
750 EE E 750 152 :
R F—] 5 152 | -
750
i1 i s—— — 152 | .
750 | —] Starter Row
Starter Row
e _ .
Rear 16— Left Side
761 756 765
- [ . r s |
- = 6
756 || 760 1521 | ~]
751 ] 752 752 | g
32 | ;751 [ ;
51 i — 752 152 | ;
T i -
B 1 752 752 { i
750 i
; ' 71 152 | ;
751 | ] 752
752 |
751 g s B 1
—— e = 752
751 | ! | 1 1152

Siding Sequence

Homestyles Handyman Hint.

Tisbban

It el Ui

Starter Row

S et shredifins enadls ey

Starter Row

tyles.

HL DO $45546




Inspections Division

Date:_03/15/18

Align Ridge Covers over Center Beam

50 Roof Ridge Cover Sequence

Press to
Snap
inte
Place

Apply PV(

Cement over 7
Ridge Cover v
Position Ridge

Cap. Hold in <™

position until
Cement is set.

Stage 7 Securing Shed To Base

Cohtis hig'h'l'y' recommended to attach your
shed to your base {wood or concrete) for
;gdded wind resistance.

- Use holes provided in floor for
- ~attachment, (fasteners not included). ~=

* Frted i the USA - U Fence. 434104623 Re B 03168



